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REV-01 2022/08

BPS/02/07
BA POLITICAL SCIENCE
FIFTH SEMESTER (SPECIAL REPEAT)
WORLD CONSTITUTION
BPS-504
(Use separate answer scripts for Objective & Descriptive)

Duration : 3 hrs. Full Marks: 70

( LART-A: Objective )

Time : 20 min. Marks : 20

Choose the correct answer from the following: I1X20=20

1. “All legislative Powers herein granted shall be vested in a Congress of the United
States, which shall consist of a Senate and House of Representatives”. Identify the

article.
a. Article 1 Section 1 b. Article 2 section |
c. Article 3 d. Article 4
2. Which country is known as the nation of immigrants?
a. USA b. UK
¢. China d. India

3.  Why Philadelphia Convention is famous?
a. The US Constitutional Convention b. The UK Constitutional Convention
¢. The Indian Conslitutional Convention d. None ol the above

4. “The judicial Power of the United States, shall be vested in one supreme Court, and in such
inferior Courts as the Congress may from time to time ordain and establish. The Judges, both of
the supreme and inferior Courts, shall hold their Offices during good Behaviour, and shall, at
stated Times, receive for their Services, a Compensation, which shall not be diminished during,
their Continuance in Office”. [dentify the article

a. Article 1 Section 1 b. Article 2

¢ Article 4 d. Article 3 section |
5. What is the tenure of president of USA?

a. 8years b. 3 years

¢. 4 years d. 2years
6. Whatare the features of the British monarchy?

a. Hereditary b. Constitutional

¢. Both Hereditary and Constitutional d. None of the above
7.  With which country Queen Elizabeth Il is associated with?

a. India b. Israel

c. UK d. UAE

8. Identify the meaning of the statement- "Monarch reigns but does not rule.”
a. The given stalemenl is wrong, b. The monarch have no functions
¢. The administration of the state isrun ~ d. None of the above
in the name of the king/queen but not
by the king/queen himself/herself
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Within crown who occupies the dominant place?

a. Judicial officers b. Parliamentary Secrelary

¢. The Monarch d. Prime Minister and the cabinel
With which country the phase "King can do no wrong" is associaled with?

a. France b. India

c. UK d. None of the above

With which country the labour party is associated with?

a. China b. Palestine

c¢. UAE d. UK

Emmanuel Macron is the president of which country?

a. France b. UK

¢ India d. Japan

In which vear the Fifth Republic (France) was estlablished?

a. 1958 b. 1968

c. 1954 dW1955

s e T S __is the head of the state and head of the executive in France.
a. President b. PM

¢. Council of Ministers d. None of the above

Which chapter of the Japanese constitution talks about Rights and Duties?

a. Chl b. Ch2
c. Ch3 d. Ch4
The Renunciation of War comes under which article?
a. Article 9 chapter 11 b. Article 10 chapter IlI
¢. Article 9 chapter Il1 d. Article 10 chapter 11

How many total membership of house is required for the quorum for transaction of
business in House of Councilors session?

a. One-Fourth b. One-Third

¢. Two-Third d. None of the above

Which is the present ruling political party in Japan?
a. Liberal Democratic party b. The Communist party
¢ Japan Socialist party d. The Democratic Socialist party

“The Imperial Throne shall be dynastic and succeeded to in accordance with the
Imperial House Law passed by the Diet”. Identify the article.

a. Article 1 of the Japanese constitution b.  Article 2 of the Japanese constitution
¢ Article 3 of the Japanese constitution d. Article 4 of the Japanese constilution

“The Emperor shall be the svmbol of the State and of the unity of the People, deriving
his position from the will of the people with whom resides sovereign power”. Identify
the article.

a. Article I of the Japanese constitution b. Article 2 of the Japanese constitution
¢ Arlicle 3 of the Japanese constitution d. Article 4 of the Japanese constitution
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